log AL Leuchtdichte-Diffenz- =
: renzschwelleAL= L . -g7630cd/ nt

y
0,40 AD 0,1s A,B
0,47 Mittel




log AL Leuchtdichte-Diffenz- =
: renzschwelle;AL= L - Lg'63°°.“”?

y
0,40 AD 0,1s A,B
0,47 Mittel




log AL Leuchtdichte-Diffenz- iy
: renzschwelle;AL= L - Lg'e'jc.dm?

y
0,40 AD 0,1s A,B
0,47 Mittel




log L/AL Leuchtdichte-Kontrast-._
. Empfindlichkeitssch\ﬁe%mc"”@

27 =L/AL

AD 0,1s A,B
1 Mittel




log L/AL Leuchtdichte-Kontrast-._
- Ermpfindiichkeitsschwelid et

2] =L/AL

AD 0,1s A,B
1 Mittel




log L/AL Leuchtdichte-Kontrast-._
. Empfindlichkeitssch 26, 3cdin?

27 =L/AL
AD 0,1s AB

1 Mittel




L/AL Leuchtdichte-Kontrast- | _
Empfindichkelteschwellsg=630cdi?
Xy
A 0,34°0,40 AD 0,1s A,B
Y 0,45 0,47 Mittel
0,15 0,19 -
0,58 0,32 o],

407

30T

20--

10--

0,25 0,44 / §
=

0
-3

- 0 1 o Xx=logL



L/AL Leuchtdichte-Kontrast- | a3
Empfindlichkeitsschwell&d
401 X _ Y
A 0,34 0,40 AD 0,1s A,B
Y 0,45 0,47 Mittel
0,15 0,19
0,58 0,32
20T © 0,25 0,44

30T

10--

0 .
=5 =2




L/AL Leuchtdichte-Kontrast- | _
Empfindlichkeitsschwelleg6.3cdm?

401 X Y =L/AL
A 0,34 0,40 AD 0,1s AB
Y 0,45 0,47 Mittel

0,15 0,19

0,58 0,32

20T © 0,25 0,44

30T

10T

O i
=5 =2




